do/ de [ub/(GeV!/Ic)]

Ratio to LHCB

=
o
w

H
o
N

10

0.5

7000 GeV pp

Soft QC

D

= | I I I | I I I I _|:
- pT(D") (y-2.0-2.5) -
L m LHCB _
| --G-- Herwig++ 2.7.0 default |
--f4-- Herwig 7.2.0 default
B L _
B =S n _
O---__ Tl
— ~___G~~~‘~ ~\\ p—
— O -
| \ﬂ\ _
B e |
Q@\C\\\
— . \\\\\:\\\ pa—
.0
=

| | | | | | | | | | | | | | |—
:I T | T T T | T T T | T T T |:
n ____-Er‘::::::’&"“"i‘-i‘-%""“‘-- : B
N T e e T S
- _ - PEs \\‘ —

=) o ]
— /, //@ —]

. o . . . | . . . | . . . |

8

P, [GeV!/!c]

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


